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- Name

Lo A vuve has equation y — f(@). ¢

J
@' Write an expression for the slope of the secant line through P = (5, f(5)) and Q = (z, f(x)). £lr) £0%)
(b Write an expression for the slope of the tangent line at . {" ' ( x/\

2. Find the equation of the tangent line to the parabola f(2) = 2? — 4z + 3 at the point (5, 8). j ' // X~ 5)
} ((\) \ /\‘)\!"(( /
3. Find the slope of the tangent line to the curve at 2 = 1 for each of the following graphs:

(a) y=3z2+7-5 +

by y=2-2r
(©) y=+Vax
(d) y= ﬁf o i/'l ,

4

4. The following piecewise defined function defines the position P(t) of a particle as a function of time ¢.

2t 0<a2t<?
5
2L
P(t) = 5 5 <t<7
—t+12 7<t<10
-3t+32 t>10

(a) Sketch a graph of P(t).

(b) Sketch a graph of the velocity function of the particle.

i
5. Sketch the graph of a function f(z) where f(0) =5, f'(1) = -1, f(2) =2, and f/(3) = 2.

6. Kaladin throws a ball into the air on the mysterious planet Roshar at a velocity of 55 ft/s, starting from a

height of 6 ft. The height in feet after ¢ seconds is given by y = —12t2 + 55t + 6. PP,

(a) What is the velocity at t = 27 -9+ 5% - '/ ST %
= q’t)‘)“{q X7
(b) At what time will the ball hit the ground? “‘t/“[ci/_’f“

(c) What is the velocity at which the ball hits the ground?

sS4 ) 55
(You may use calculator for (b), (c)). = L‘ 55 by -+ '3 X
3 Q= ﬁ
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1. Find the domain of the function /3 -+ V24t

2. Evaluate f(-3), f(0), f(2) for the following piecewise function:

el =1, =51 |
f(x>={ poTs-
(z+1)°, z>-1. 2,—;

3. Determine if g(z) = 22 — 27 4 z'° is odd, even, or neither. Mo ithev

4. Find the domain of the function A(t) = 2.

%gf(f\;ti! = Cos ()% I) ﬂ? b\ %W% J MG Zf

5. The manager of a furniture factory finds that it costs $2200 to manufacture 100 chairs in one day and
$4800 to manufacture 300 in one day.

(a) Express the cost as a function of the number of chairs produced, assuming the relationship is
linear. Cost = 13(Chair) + 900
(b) What is the slope of the function and what does it represent? P) = ﬁ/ G e/

(c) What is the y-intercept of the function and what does it represent? L il
An0 - op- Lot X &
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